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    Look at this intensive intervention lesson about word problems.
· Identify five instances where the mathematical language is precise. 
· Identify five instances where the mathematical language is concise. 
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Complete the table.
· Identify five instances where the mathematical language is precise. 
· Identify five instances where the mathematical language is concise. 


	 
	Examples of Language from Intensive Intervention

	Precise
	1.

	
	2.

	
	3.

	
	4.

	
	5.

	Concise
	1.

	
	2.

	
	3.

	
	4.

	
	5.
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A plussign and an equal sign.
Right. For our Total equation, we always use a plus sign and an equal sign.

In Difference problems, we compare two amounts to find the difference. In our
Difference equation, we use a minus sign and an equal sign, like this.

Pointto the bottom of Diference Chart.
The Difference equation Is G minus L equals D. The amount that's greater
‘minus the amount that's less equals the Difference. Here Is the minus sign
(point), and here Is the equal sign (point).
Letme show you how the Difference equation Is like the picture. G Is the
amount that's greater or Amy. Let's say Amy Is 5 feet tall. | write 5 underneath
Gand put 5 Inthe box with G.

Wite 5 underneath G and put 5 i the box with G.

Lis the amount that's less or John. Let's say John Is 3 feet tall. I write 3
‘underneath L and put 3 In the box with L.

Write 3 underneath L and put 3n the box with L.
We'e finding the Difference between Amy and John. That's this much.
‘Show with your hands the amount between Amy and John.
This Is what's missing. So I write X underneath D and put X In the box with D.
Write X undemeath D and put Xin the box with D.

Now 1 put the minus and equal sign Into the number sentence. Now | can find
X!When X s at the end, I solve It. | need to subtract. What's 5 minus 3?

2

Right. 5 minus 3Is the same as 2. X equals 2. The difference between Amy and
John Is 2 feet. Amy Is 2 feet taller than John. John Is 2 feet shorter than Amy.
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